FY 330

ACT-ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM

MODEL EXAMINATION 2021

COMPUTER SCIENCE

SOLVED QUESTION PAPER

Qn Ch Question Value Points Score | Total
No No
Answer any 3 questions from a to e. a MIOT € UOHEWIBB B19R(6BBSIT a@OMSBSIRIR0 3 ag)eROTTIMY
PART A Each carries 1 score (3X1=3) OOM®o af)PIMB. 6ICBINTIMY 1 MIBHIB ailmo (3X1 = 3) PART A

Who is known as father of computer ?

Charles Babbage

SMIRSAlOM allmoal ag)am) @rROlee]s;M@mIEI6M)
?

Charles Babbage

The pictorial representation of algorithm is known |Flowchart 1 1
as ..
@R@BEUNIRo all(@® B3EaIEM BE6UO|SIOTIM® | Flowchart 1

a)m @ROIQeq|SIM].

The ........ operator gives the remainder value
during arithmetic division in C++

% OR Modulus Operator OR MOD

OEMIDODOLI aO®EMo MNSHEREMUIUB UBla¥iSo MN@D

% OR Modulus Operator OR MOD

&M C++ ORI 8I|BOQ®D ........c..e. @RI,
In C++ array index or subscript starts with ----------- .|0 OR zero 1 1
C++ @3 @GO EDMBWEBHTY @o6)e)8sl@d 0 OR zero 1

moenIn(@slalq --------- @3 @R)@oElHM].




In C++, ... function is used to find the square
root of a number.

sqrt()

C++ @ 6303 MoEU@IOS QUBQDIEI0 E:I6MIM @Y
....... AN6BRAUMD OalEIUINHLMM].

sqrt()

Answer any 11 questions from 2 to 19.

2 )®@3 19 AUIOHEQIBS @2ldR(EERSITD aRlOEsIR0 11

PART B Each carries 2 scores (11X2=22) a)EROTM OBM®@o ) IMBs. 639CEIMMIMIo 2 MIBBB Ao PART B
(11 X2=22)
2 1 |(a) 1 Byte = Bits (a) 8 1
(b) 1 GB =1024 . (b) MB / Mega Bytes 1
(a) 1 Byte = Bits (a) 8 1
(b) 1 GB = 1024 . (b) MB / Mega Bytes 1
3 3 |Prepare a short note on any one e-Waste disposal

method.

Any one with explanation

* Reuse - Second hand use [ usage after the equipment
has been upgraded or modified

* Recycle - making new products from old one
* Incineration - burn at high temperature
* Land filling - buried in the soil

(Names only can be given 1 mark)

1Tx2

aBO®E|ERe 6@} -GN MIBENIBEIM @IB
REOOMEN0l4] el allaieemoe @EQINILENE:.

@969 @MIGlemnmMAU@I@ Mlame a@emeilee 8660
¢ alM@IGQIN0 - OAVBHMY aNIMBW OalEI0 [
BBS3n 19538 alBlaN@ls] 2 |6)q|SIOT DalEIUTEENE
* alM®3EJIRMo - 98|MEEREI@3 MIMMio OalE@IUIE6I3
alQM LISE6BRSIICWIUI 5] A ROI® Dald>E6MEBRUB MIA

22 6N Hs
¢ HO0a)] HSWTB - OB ODVHRINNTD HOD] )3
SBQIAM]

«  oqylsy 235@8 - aelMSII@d @x8laflsyamy
(Names only can be given 1 mark)




What is cache memory ?

Any two from the following

High speed memory
Placed in between RAM and Processor
Stores frequently used data and instructions

It increases the speed of a computer

&0 ORZNO] af)OMITD f)D) ?

@969 @MIGlemnmMAU@I@ Mlamie a@emeEslee ee6MRENo

BAN® HHISI @A)
RAM myo Processor myo sns@il@d cudl@] 6 a1@amy

EDSHEOS @RHNUURIRIW BWQMo EDMBMI(SEHHUMYo
auyeHleeyM].

SHMURPSOIOMG BUND SIS

Compare logical errors and syntax errors.

Syntax error occurs due to violation of rules or syntax
of the programming language.

Logical error- occurs due to improper planning in the
program. /[ Error that causes incorrect output.

Ge1988lds ag)0030, MINFOIBMY a0} IR0
6).21QRH:.

Syntax error : M@@AEER8IOS Llo*RIMo @P6EJE:ITd
CIO(NIANoUY BIH@IOS QUIBPRISM Llo2lleemM @Y
&0@6Mo.

Logical error: gEiowoaleel ODMQIQW @RHYTVY@EMAIE
O SIE6Mo. [ O@MQI® output A BIEEMAIBHIM
error




Write any two advantages flow chart.

Any two from the following
* Better communication

» Effective analysis 2x1
» Effective synthesis
+ Efficient coding.
a0G80 219383160F BOME|Re @ENE UREMEBRUD @969 ®MIGlemnmMAU@I@ Mlamie a@OmElee ©e6TRENo
) 9ITNE>. ¢ dlda) @R Qllmla®o
* a0l QlltadeiMo
*  a0RI(EIBAIW MVAMIWo 2x 1
*  aDPI(IBAIW BHIWIEE
List out the literals in C++. * Integer literal 1/2
* Floating point literal 1/2
* Character literal 1/2
+ String literal 1/2
C ++ eel ellQ0eREUB a@O®Edo ? +  afled ellgoed-uB ( al3depaVoal0 RIIQORIE:US ) 1/2
*  @qQogle’ eaa@lng’ ellgoeps:ud ( @prmudle BueIeud
Mmoo lQoeRsE:ud ) 1/2
* PS5O ellgoeeud
«  @myslers ellgQoeneud 1/2
1/2
Describe about any two fundamental data types |Any two from the following
in C++.
void 2x1

- to represent empty set
-0 byte memory
char
- to represent characters
- 1 byte memory




int
- to represent integers
- 4 byte memory
float
- to represent floating point numbers
- 4 byte memory
double
- to represent floating point numbers
- 8 byte memory
(Listing only can be given 1/2 mark each 2 x 1/2)

C++ 8Bl a@emssleo @6NE @RSITUOIM (WIQ
06Sai&O8 3I0] ailaildleeys:.

Any two from the following
void
- to represent empty set
- 0 byte memory
char
- to represent characters
- 1 byte memory
int
- to represent integers
- 4 byte memory
float
- to represent floating point numbers
- 4 byte memory
double
- to represent floating point numbers
- 8 byte memory
(Listing only can be given 1/2 mark each 2 x 1/2)

2 x1

Compare break and continue statements in C++.

break statement transfer the program control outside the
loop or switch

continue statement transfer the program control to the next
iteration




Break, continue ag)l (MN@®IMH08 IR0
62IQD>.

break statement - @990 &6 BSIUB ela{lode@o

Ml lOMBE@I A BNBDMEE) 6)E:06NBIBAIIBIM] [ test expression
O alJOBOMBE) 6)>I6NMBYBlI30N]

continue statement - @RSsyO iteration celBe) Gl
EHG(ENBIUB ODIENEIBAIIEIMN]

10 Write C++ statement to declare an array to store |int A[10];
10 integer values. (Array name can be changed )
( Use of data type int can be given 1 mark
A[10]; can be given 1 mark))
alo naglerd  aileid:ud MIERIB O IQIMESs 6@y | int A[10];
@060 MIBQYleenymM@IMEBS (IMS@IUM (Array name can be changed )
ag) PR D>, ( Use of data type int can be given 1 mark
A[10]; can be given 1 mark )
11 Write short note on getling(). getline () - to input / accept a string through the keyboard
[stream input function
Eg : cin.getling(str,len); /
cin.getline(str,len,ch);
getling() aneBBauOM B3014] e10a)y &3Cla] ag)92@Nd:. |getline () - to input / accept a string through the keyboard /
stream input function
Eg : cin.getling(str,len); /
cin.getline(str,len,ch);
12 What is the use of write( ) function in C++ ? write () - to display a string

Eg : cout.write(str,10);

C++ o1 write() a0683a:6(F DalBIWo af)a6N) ?

write () - to display a string
Eg : cout.write(str,10);




13 10 |Briefly explain function argument in C++. Arguments are the means to pass data from the calling
function to the called function. 2
(Formal arguments , Actual arguments can be given 1/2 mark
each)
C++ ORI a06B3HM @RAUNRIODAFIHOB H:30lo] calling function @3 ajlamge called function eeies) cawg
23863 QlluRloe®:. £6&AINIMDIM @RHBUROANFIN DalEIUT BRIy
( Formal arguments , Actual arguments oy 1/2 20@®6) Mfl®o
6)EISIHOINUZM@IEN) )
14 10 |Write the names of any two character functions. |Any two character functions from the following
« islower()
« isupper()
« isdigit() 2x1
+ isalpha()
« isalnum()
+ tolower()
« toupper()
C++ 6B a@o®mes]R3o E6NE B (0OBSA Any two character functions from the following
aN6BBUMEBIOS Bal@)UB af)PIDRD:. « islower()
« isupper()
« isdigit()
« isalpha()
* isalnum() 2x1
« tolower()
+ toupper()
15 10 |Write the name of string functions used for the (a) strlen() 1

following purposes :
(a) To find the length of a string.

(b) To compare two strings.

(b) strcmp() / strcmpi()




@IOY OBISYOMIGBHERMM DBRUBEBRUDHE) BleNe C+
+ aN6BRAUMEHSBYOS Gal@
) FAOND>.

(a) 3@ miSledkled allsoe @:asmymm@dlay

(b) @ENE MY(Sl6BRYBUB IR0 62IQRMN@IM).

(a) strlen()
(b) strcmp() / strcmpi()

16 11 | Write short note on: (a) Modem:
* Modulator demodulator
(a) Modem * Modem converts digital signals to analog signhals and
analog signals to digital signals
(b) Switch (b) Switch
» Switch is an intelligent device used to connect
computers / devices of the same network.
@969 HBISIOMIBlENMAUOD B30 e1eey &3dla] |(a)Modem:
ag) PORDs. * Modulator demodulator
(a) e@awo + l=€lgad miluners:es @PMERIdUY MUluNeRE:80@]0
@) aujla] @PMEeIouY milunene:es (llelgad milunee:so@yo
alRlIUBO®Mo 6).21QRIM.
(b) uflay
* 86 OMQAUABLSIGRISE BMIISOIGUD [ Oald:@6MEBRUY
enIUWla [le69m Dale@auilesmm diddlmenielleas
GNQ DaldrEeM@IEN MYjla].
17 12 |Discuss about the advantages of Social Media.

Any two points from the following:

« Bring people together




« Plan and organise events
* Business promotions

» Social skills

2 X1

VAN DIW(AEBBSIOS CGAMBABUD 210.2|6)21QRE>

@26 ®mmildleamaailcd mlmze ageamlele eeeNzeRe
. TRSIH68 B30I 5] GalBHIM)
. al@laldSIe86S @RMY(@EMUIo (EA]HHEEM UL
. QOEMIZY  (alald@6Mo

. MVIDLOlB EIOMaliemio

2x1

18

12

What is computer virus ?

Virus - a program used to corrupt or delete data on our
computer / the program that interferes the normal
behaviour of computer

SHMIRSDB OOQUOMI af)MNIOELIND) ?

OeQIOM - MENIOS SHMIRSOleOR! AlIEEERUB @IEO®ICMI
MUBlajle26MI GUHUlRS8S @MIIY HAIA [ &MIRSOlen]
MLIWIEEM(AIUBDDMODD (I ]BHIRIBID] ERIOUSEHYM
@190

19

12

Write short note on hacking.

Hacking is a technical effort to manipulate the normal
behaviour of network connections and connected systems.

aN286)68ElOM B:3015] eIl B3Gla] ag)PiIs:.

aNIBSN6T3 - HMUISB UA(EAULIGSIOSWo @OAURRAIRI] 6nIMUWlafla)
SMYRISNISSIOSQIo MVJIEINIS; ((IQIBDDMEBRUIHE) Qlleeld®o
QUGS R oY




PART C

Answer any 10 questions from 22 to 41
Each carries 3 scores (10X3 = 30)

20 3@ @3 39 UOEIBS GaldR(EERSITD aBe®eslee 10
a)EROTNM OBM®@o ) PIMIBs. 6398EIMMIMIe 3 M@ Qfl@o
(10X3 = 30)

PART C

20 1

Explain Fourth generation computers.

Any three points from the following

Microprocessors were used

They are also called microcomputers.

They use Very Large Scale Integration(VLSI)
technology.

A microprocessor consists of millions of transistors and
components.

Semiconductors were used as main memory.

Fourth generation computers were more portable and
reliable.

ML @EIMO GMIISOIGES @I0la]
Qllveile:@lees:.

@96¥ @MIElecmMUEI@ Mlmye a@e@Eslee MeMERo

ODE(EBI BIITVGYOIBHUB OalEQIUI LM
ORGS0 SMUPSMNREUB af)MOIQE|SIM

Very Large Scale Integration(VLSI) technology
DalEINN B}

Main memory @w»@l semi conductor memory
OalBQINNH6MM]

portable oo reliable o @6

21 2

Write a short note on representation of integer
numbers in computer memory.

Sign and magnitude representation:

In sign and magnitude representation the first bit from
left of the word is used for representing sign (0 for +ve
and 1 for -ve) and remaining bits for its magnitude.

1's complement representation:

In 1's complement representation replace all 1 by 0
and all 0 by 1

2's complement representation:

2's complement representation can be calculated by
adding 1 to 1's complement representation

1/2

1/2
1/2
1/2

1/2




1/2

HMISOle eneclailcd snadtlerd muoa(@-ud « Sign and magnitude representation: 1/2
BREUOSITM@IOM B:30a] eleal @i 6nilg sign 9o ( 1 for negative and 0 for +ve) 7
30la] ag) RIS, enilQae-u8 magnitude Mo Dale@IUILERMM]. 1/2
* 1's complement representation: 1/2
1 &M 0 606M33 0 HO® 1 OBI6NMEI AIQIH: 1/2
« 2's complement representation: 1/2
1's complement representation 613 &36s 1 353> 1/2
22 Briefly explain principle of duality. * There will be a dual for every Boolean expression 1
+ It is obtained by replacing every AND with OR and 1
every OR with AN
« ltis also obtained by replacing 1 with 0 and 0 with 1 1
8(ailadmiloflud 690 awgauoeilglo@ @dlaf ¢ 6396EI NREINOT alBREEICINETHIMIe 630} (UIAUTD 1
elreR©)l allaidleeys:. ©6ENBIBHo
* 6306803 AND 90 OR 6)é061m330 63068@0 OR 90 AND 1
6)dHI6N30 MINIWI@B M) LIEIH60
* 1Temi eaiengie 0 &M 1 6E:36N330 AIQEMo 1
23 Prepare a short note on RAM. Any three from the following
+ Random Access Memory
« temporary memory
+ volatile memory / data is lost when computer off 3x1
+ stores data, instruction, results etc
RAM exn &:3014] el &30la] @@O0IE6)S:. @96¥ @MIGlecmMUEI@ almmye a@e®eslee MeMeRo
+ Random Access Memory
s ®oelendeils onoadl 3x1

+ volatile memory /| &mMISA 390286 @I O8RSO
MadiS6)q SN}
+ ewQq , MIBGRUEEERUS , aNLIBRUB ag)aTlal MUEHE6M]




24 Differentiate between Primary Memory and Primary memory holds data, intermediate results and results
Secondary Memory. of ongoing jobs temporarily. 1
Eg : Any one from (RAM, ROM, Cache) 1/2
Secondary memory holds data and information permanently.
Eg: Any one from (Hard disk , CD , DVD , Pen drive etc) 1
1/2
66100l £l OHTVE6MEOl HAZACIQ0 Primary Memory - ewq , mlde@3ueesnRud , a0rI6BRU3 ag)amlau
O2AERBS QUDHITVEBRUB af)PYORE:. ©®2e]e6 el MuEHleMmy
Eg : Any one from (RAM , ROM, Cache)
Secondary memory - gwgq , MIBGRUeEEBRUB , aNLIBRUB agarila
mudlead@]  muEHlee0m}
Eg: Any one from (Hard disk , CD, DVD , Pen drive etc)
25 Draw the flow chart to find the area of a circle. Algorithm
[Hint area =3.14 x %]
Step1 : Start 1/2
Step2. Inputr 1/2
Step3:A=314*r*r 1
Step4 : Print A 1/2
Step5 : Stop 1/2
OR

1/2




( Start 1/2
Input r 1/2
A=3.14 * r*r 1
Print A 1/2
N\
80} yomomleng almi@lden. eoemm@lmas |Same as above
a0G80a108T UEBED:.
[vgaim allmi@ildemo - 3.14 x ]
26 List out the stages of phases in programming. Any six from the following
* Problem identification
* Algorithm and flowchart
* Program coding 6x1/2

» Translation

+ Debugging

» Execution and testing
* Documentation




GaloW0dleBilonl cp1568B03 Al 6.a1@)s:.

@969 @MIGlemnmMAU@I@ e a@emesleo 6 ag)gmo
¢ (UdMo M@ 4)Ol@D
* @RGIENIBITNU BqQo2IdBS0
* GO0 BHHIWIES
* @R
¢ (UBODMIN0 al@le Mo
+  allaieeMoe ®E@INIETD

27 Categorise the following identifiers as valid or Valid identifiers - sum 1/2
invalid. Invalid identifiers - 1a, Class No, reg-no , int, a*b 5x1/2
sum, la, Class No,
reg-no, int,a* b (la - valid)

IO HBISYODIBleMAIeO® qioeilcuy Valid identifiers - sum 1/2

a)8ag)WGlan@@, soadcudeilouy Invalid identifiers - 1a, Class No, reg-no , int, a*b 5x1/2

£a)WBla0@@ g)(mil DMEBRBIT] @0 @IGElEe)S:.
(la - valid)

sum, la, Class No,

reg-no, int,a * b

28 Briefly explain about structure of a C++ program. |#include <iostream> [ #include<header file> 1

using namespace std; 1
int main() 1/2
{
statements 1/2

}




8@} C++ GIWIAONR ~LISMO® @30la]
213@IEOO T3 QUGB LD

#include <iostream> [ #include<header file>
using namespace std;

int main() 1/2
{
statements 1/2
}
29 Prepare a short note on comments in C++. Comments in C++ are used for internal documentation 1
Single line comment // 1
Multiline comment [* .....ccooeinenee. */ 1
C+t+ el SHO0R0I&O8 &:)0la] e1ee) &Gle] @RMMAlS> QilaieeM@TIM] GUMNEl BAMFIGUB Oale@IUIEeMM] 1
O@QIOIBEND: Single line comment // 1
Multiline comment [* .....cccevenennee. */ 1
30 Which are the relational operators in C++ ? * < lessthan
* <= less than or equal to
« > greater than
+ >= greater than or equal to 6x1/2
« == equalto
+ I= notequalto
C++ eel Glealaem@d 630q]BNQNEUB aBODINDE) ? + < lessthan
+ <= less than or equal to
« > greater than
+ >= greater than or equal to 6x1/2
« == equalto
 I= notequalto
31 Consider the following code fragment of a C++ cout <<"Enter your choice”;

program.

cout <<"Enter your choice”;
cin >> choice;

if (choice = =1)

cout << “Science”;

if (choice = = 2)

cin >> choice;
switch( choice)
case 1: cout<<"Science”; break;
case 2 : cout<< "Humanities”;

}




nu

cout <<""Humanities”;
Rewrite the above code fragment using switch
statement.

683©) C++ GI(W2AIeRI IO H)BISITMIBIHERM.
BHIM OBRIEBRUD al@RlNEMIHLE)Es.

cout <<"Enter your choice”;
cin >> choice;

if (choice ==1)
cout << “Science”;
if (choice = = 2)

cout <<"Humanities”;
2SI OISO AL BHIUY Lod:Llo SWitch
alE@IU 5] IO ag)PICRE.

cout <<"Enter your choice”;
cin >> choice;

switch( choice)

case 1: cout<<"Science”; break;
case 2 : cout<< “Humanities” ;

}

32

Briefly explain about if and if-else statement in
C++.

if statement

if will check the condition and execute the body only if the
condition is true

OR

if(test expression)

{

statement block;

}

OR Correct example
if .... else statement
if ... else will check the condition and execute the if part if

the condition is true and else part if the condition is false
OR




if(test expression)

{

statement block;

}

else

{

statement block;

}

OR Correct example

C++ eal if, if-else (ImimIIME:686:3014]
21}@IBOOD T3 QUGB LD

if statement

Condition al@leweoWls] true @ReeMEI@ body ag)d@mMiles
6.21Q0

OR

if(test expression)

{

statement block;

}

OR Correct example

if .... else statement

Condition al@lewedwls] true @eeeMEI@B if 10@S0 false
@REOEMEITE else aldBS5lo )BTRS 6)a1QR0

OR

if(test expression)

{

statement block;

}

else

{

statement block;

}

OR Correct example




33 List out the array operations. Any three from the following
» Traversal
* Inserting 3% 1
+ Deleting
+ Sorting
» Searching
* Merging

@EOOWIOL! (LIAIBGOMMEBBUB af)9ICRE:. Any three from the following

+ Traversal
* Inserting
+ Deleting 3 x 1
« Sorting
» Searching
* Merging

34 Write down a C++ program to find the sum of n #include<iostream>

integer numbers stored in an array.

using namespace std;
int main()

{
intn, A[i], i;

int s=0;

cout<< “Enter the limit”;

cin>>n;

cout<<"Enter numbers into an array”;
fot(i=0; i<n; i++)

{
cin>>A[i[;
s=s+A[i];
}

cout<<"Sum is “<<s;




OR

int s=0;

fot( i=0 ; i<n; i++)
{
cin>>A[i];
s=s+A[i];
}
(Structure can be given 2 mark , use of for loop can be given
1 mark)

OR

803 @POOXIT MorAlfldlesiom n integer
MVoEU(E-BIOS R BHIEMIMDIMBS G0

) 9ION D>

#include<iostream>
using namespace std;
int main()

{
intn, A[i], i;

int s=0;

cout<< “Enter the limit”;

cin>>n;

cout<<"Enter numbers into an array”;
fot( i=0 ; i<n; i++)

{

cin>>A[i];

s=s+A[i];

}

cout<<"Sum is “<<s;
}

OR

int s=0;

fot(i=0; i<n; i++)

{

cin>>A[i];




s=s+A[i];
}
(Structure can be given 2 mark , use of for loop can be given
1 mark)

35 10 |Briefly explain about merits of modular Any 3 points from the following

programming.
* Reduces the size of the program
* Less chance of errors
* Reduces programming complexity 3x1
* Improves re usability

@2WLINA GoWIZlsaslong camae:ud ©@96¥a|0@MAII@3 MM age@maslee 3 ngeRe

QllElees:. o
* GWOAING QIBRe o BIOQENM]
* OHOQIBUB QAUGIME VI BHIOCUIETTY 3x1
* G(I(UIAoUY MUESIBEND IO HERMM
* al}NE}IGQIN0 OD.5|6)q|SIOTRAM].

36 10 |Write the name of any three mathematical Any three from the following

functions in C++. + abs()
* pow()
« sqrt() 3x1
« fabs()
« sin()
« cos()

C++ &8l agemssleigo @M 20OMAIGE6 @D @969 @MIGBlecnmMAU@I@ Mlamie a@OERlee MIOMENo

aDN6BBaUM:BIOS Bal® af)9YTND. « abs()
* pow()
« sgrt() 3x1
« fabs()

« sin()
+ cos()




37

11

What are the advantages of Computer network ?

Any three from the following:
1. Resource sharing
2. Reliability
3. Price /[ Performance ratio
4. Communication
5

. Scalability

3x1

SMUISG UVBJEAULIQES BAMTOAEUD
) HTNIOEOH@IEN) ?

©®96¥9q|0@IMAUIG3 MM age@mssslee myam:
1. lle6BRUB aleslS@d
2. allwlpayim
3. allel / (&sm @Miald®oe ( .alein] &goal)
4. @ryueallmlawo

5. ailaelle:eElenrmas muowim

3x1

38

11

Write short note on following :
(a) MAC

(b) IP

(a) MAC Address - Media Access Control
It is a universally unique 12 digit hexadecimal(48bit
binary) number provided to each NIC by its
manufacturer.

(b) IP address - Internet Protocol Address
It is a unigue numeric address assigned to each node on
a network by the network administrator or the Internet
Service Provider.

1/2

1)2

IO OBISHODBERMAUOD H:3015] Bl1oey @0l
() Y5>

(a) MAC

(b) IP

a) MAC Address - Media Access Control
830609 NIC &6)0 @R@IOH MIBEMI®IAT M@BB3M unique
@RW 12 @r®e hexadecimal mminoemIoy.

(b )IP address - Internet Protocol Address
eMQQIBES @RWEIMIMIGEQA @oeg)esl@d nagdemy
BaVAIM BIMINT BB HMYAUBESNOL! BIBEI BMIWIMo
M@ISI8s unique address @REMIM.

1/2

1/2




39

12

Briefly explain about any two services on
Internet.

Any two from the following

.World Wide Web [ Web browsing / Browser
Search engine

E-mail

Social media

Any two explanation from the following

www - is a system of inter linked hyper text
documents accessed via the Internet

Web browser - a software used to retrieve or present
information and navigate through web pages in www
Web browsing - traversing through the web pages of
WWW,

Search engine : special programs used to help people
to find information in www

E-mail - Electronic mail - method of exchanging digital
messages between computers over internet

Social media - refers to the use of mobile and web-
based technologies through which individuals and
communities can create, share, discuss and modify
content.

2x1/2

2 X1

DAFOBOMGIOL! BODMESIEe BENS BIMVOIMEBROS
&301a] elrepao@l allaicles.

@969 @MIGlemnmMAU@I@ Mlame a@emElee ee6MRENo

www [ eqauent enmaud [ eauenT enimmilers

www [ eauenT enimaud [ exxusnt erummiler

2x1/2




¢ VA4 ag)mdedld
s 0Y-00QI0D
¢ GMIY@3 Aol

@969 )dBIS}OMIGBlEL6MAUDI@ Mo BODMBILIRe NS
allaieemo

© www - DaddemgleRes RIGIAIEEM al@Mial@o
51T EMBENM ©6)aNe|B@ OSE> @ BWISIORG’
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Answer any 1 questions from 40 to 42

40 3@ @B 42 UOEIBS BaldR(EERSIT aBO®eslello 1

PART D |Each carries 5 scores (1 X5=5) a)EROTNM OBM®@o ) IMBs. 6398EIMMIMIo 5 M@ Qfl@o PART D
(1X5=5)
40 2 |Answer the following :
(a) Convert (87) 10 to binary number system.
(87) 10 = ( )2 (1)|(a) 1010111, 1
(b) Convert (101101) , to octal number system. (b) 554 1
(101101) ,= ( ) s (c) 010110101001 1
(M (d) diagram for AND gate 1
(c) Convert (5A9) ;¢ to binary number system. diagram for OR gate 1
(5A9) +6= ( ) 2
(1)
(d) Draw circuit diagram for AND, OR gates.
(2)
IO HBISYOTIBIBOIMAUBE) OOM@o af) PO
(a) (87)10 ©m e&6rumMdl mmud milgyoolleelesy
@03, (1) (@) 1010111, 1
(87) 10 = ( )2 (b) 555 1
(b) (101101), allom 8&55@ MauAd alaguomilealss)  |(c) 010110101001 1
20Q3ds. (1) (d) diagram for AND gate 1
(101101) 2= ( ) s diagram for OR gate 1
(c) (5A9),c @MOBENIMAl MG MilaR@TTilEeiss)
2. (1)
(5A9) 16 = ( ) 2
(d) AND, OR ag)amil GNQIE8316S MUBBIS W0
QUESNS:. (2)
41 7 |Explain about iteration or loop statements in C++. |Loop statement - control statements used to execute a block
of statements repeatedly 1/2
« for
* while 3x1/2
+ do..while




for( initialisation expression ; test expression ; update
expression )

{
Body of the loop ;

}
OR

Correct example of for loop
while loop

Initialisation expression;
while( test expression )

{
Body of the loop ;
Update expression ;
}
OR

Correct example of while loop
do .... while loop
initialisation;

do

{
body of the loop;

update statement;

}while(test expression);

OR

Correct example of do ... while loop

3x1

C++ ea1 spgenglal @eeg)sslad eigq]
(INI@IUMGOS &30a] QllUeRRIEEHE:.

80} SIS0 CARIORNRBUE @RAUBDM 4] (IUBDD e {lesnrond
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+ for

« while
* do.... while
for loop

for( initialisation expression ; test expression ; update

expression )

{
Body of the loop ;

}
OR

Correct example of for loop
while loop

Initialisation expression;
while( test expression )

{
Body of the loop ;
Update expression ;
}
OR

Correct example of while loop
do .... while loop
initialisation;

do

{
body of the loop;

update statement;

}while(test expression);

OR

Correct example of do ... while loop

3x1/2

3x1




42

11

List the major topologies used in Computer
Network. Write short note on any one topology.

* Bus topology

» Star topology

* Ring topology

* Mesh topology
Any one from the following
Bus topology : In bus topology, all the nodes are connected
to a main cable called bus. A small device called a
terminator is attached to each end of the bus.
Star topology - In star topology, each node is directly
connected to a hub/switch.
Ring topology - In ring topology, all nodes are connected
using a
cable that loops the ring or circle. Data travels only in one
direction in a ring.
Mesh topology - In mesh topology, every node is connected
to
other nodes. There will be more than one path between two
nodes.

<
38 ss s 2 s
@ 2
2P .o
Bus topology Star topology

g - \ - @'\g&’
" N P
S L [ =
\‘"—‘ ¥ \@5 , @‘
Ring topology viesn topology

4x1)2

1x2




SMUISO UAEEULIRSTB DalEIUILEM (alDI6U
659G ]I828|E>UB af) RIS, aBODBsIRI0 B3@©)
859G |I8=lO® &53015] ey @3Gla] ag)ime:

* UMY @SIGe oged]
* QI8 GSIGjosed
« dlé3  6526q o8
* onad GSIGq o8l
@969 @MIGlemnmMAU@I@ alanmie a@emelele 8660

ENUMY @SB I8e3]  (aIWIM @Hx6NIlUB @R snIMilERIBs)
EMIWIBO8 6NIMWloflal@lesnamy. srumilon @wrnEINeERE!wd
&sAAIBMQAB af)MM Dald@6Mo eiSla{lafl@lesgam; .

IROB @SB I8R]  BIBEI BMIWIe aNENIBRIGHEI MV]lojlERIGH6)D
em@lg snimWlaflojl@leszam;

dlerd 6526088l @MIWE:8 BH:6NIlUB OalEIUIlo]
QUODISOINDI@B erucmlaflofl@lesnzom;

0N @S9G I8  af)BJO BMIWIBBYo al@Mal@o
eruaWlajlajl@leszam;

(6596 jo8=l@3OS Gal@)o all@®lo O66NEEI@S 1 @BHs) flmo
6)HISIOOINUIMDIE )

Q@) Q@ Q@ @3 T’ 5 j@ 5 rvoQoa
.................. <R esoeeoa|
GS0Ga 08221 5 3
&SP -
'\Qf‘ - _h @‘ O0eH”
’ ) ole” | <
@; \Qr \Q»‘ 7 ‘ GS0Ga jog22]

4x1)2

2 X1







